
Time: 10 Minutes Paper Math 8 (T-1) Total Marks: 10

5th Month, 1st Week, 2nd Day Exercise:  3.2 Q # (1,2,3,4,5,6)

Q.1. Answer the following questions.   
(i) Caculate the length of an arc of circle if the radius of an arc is 8cm and

the central angle is 40°: (3)

 40  8 

(ii) If central angle of the sector of circle is 36° and r is 15cm then what will

be the arc length? (3)

 15  30 
(iii) Saleem marks an arc of length 8cm and measures its central angle as

130° degrees. What is the radius of the are? (4)

 120°  8


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